SUMMATIVE ASSESSMENT-I (CLASS-X) 9/2015
'SUBJECT : SOCIAL SCIENCE (SET-B)

Time : 3 Hrs. M.M.: 90
General Instructions :
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The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial no. 1 to 8 are very short answer type questions.
Each question carries one mark.

Questions from serial no. 9 to 21 are 3 marks questions. Answer of
these questions should not exceed 80 words each,

Questions from serial no. 22 to 29 are 5 marks questions. Answer of
these questions should not exceed 100 words each.

Question number 30 is a map question of 3 marks ffom Geography only.
After completion, attach the map inside your answer book.

‘Women workers in Britain attacked the Spinning Jenny’'. Give any one reason.
' (1)

State any two features of commercial agriculture. (Ya+Ys=1)
Give two examples of coming together federation. (Ya+¥e=1)
What is vertical distribution of power? (1)
Who led civil rights movement in the USA? _ (1)
State the limitations of using averages for measuring economic development.

(Y2+%=1)
In which state the Infant Mortality rate is the lowest in India? (1)
What is disguised unemployment? : (1)
Describe the life of workers in England during the late 19th Century. (1k3=3}
What was print revolution? What were its impact? (1+2=3)
Why did the Roman Church begin to maintain an Index of Prohibited books
from 1558? (1x3=3)

“Technological changes occured slowly in Britain', Give three reasons. (1x3=3)

Name the four fibre crops grown in India. Which one of them is not obtained
directly from the soil? What is the name given to the process involved in its
production? (2+%+14=3)
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Q26

Q27
Q28

Q29

. Highlight three problems associated with the indiscriminate use of resource<
' : (1x3=3] -

_‘Local Communities are struggling to conserve the habitats along with
government officials’. Explain how local communities have conserved and
protected wildlife in India. (1x3=3)

. What is the rationale of decentralisation of power in India? (1x3=3)

. Explain briefly the cross-cutting differences. (1x3=3)

. Why did the relationship between Sinhala and Tamil communities strain over
time? 3)

. ‘People have different developmental goals'. Justify. (3)

. Explain how public sector contributes to the economic development of a nation.

' )

. Explain the objectives of implementing the NREGA 2005. (3)

. The Victorian industralists were not interested to introduce machines in
England’. Give five reasons. (5)

. Why did some people in the 18th century think that print culture would bring
enlightenment and end despotism? (5)

_“This soil is found in Deccan Trap plateau’. Name it and state its four features.

(1+4=5)

. ‘In recent years multipurpose projects and large dams have come under great
scrutiny and opposition’. Justify the statement. (1x5=5)

_Women are discriminated in India'. Briefly explain any five ways in which they
are discriminated. (1x5=5)

. Describe the key features of federalism. (1x5=5)

_Which sector of the economy is known service sector? Why has this sector
become the largest producer in India in last few decades? (1+4=5)

{a) What is sustainable development and why is the issue of sustainability
important for development?

(b) Give any two suggestions to achieve it. (3+2=5)
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G20.f)  Two features (A) and (B) are shown on the outline political map of India.
1dentify these features with the heip of following information and write
their correct names on the lines marked on the map. {1x3=3)
(A) A rice growing state
(B) A Nationai Park

(I) On the same political map of India, locate the following :
(C) Salal Dam
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Instructions :
The question paper is divided into Thyeesections.

Section A : Reading 20 magjs
Section B : Writing& (rammar 25 mapiy
Section C : Literature & Long Reading Ty 25 magka

SECTION A
(READING:26 sy ki)

Read the passage givey below agd  gpmplete  the  gegfences  fpay B
follow : 1x8=8

A chimpanzee is one of the gre At apes and the nggigst o indelligence oy hymgns. Selonlbjats
have examined its mental capjeities and sent (| iy space in anjipation of by
Chimpanzees need little desc r1pl1\m Being apes aly | hiil monkeys, hp  Jrave p tailg I I‘, iy
arms are longer than their legs gnd they n(nmqlh rHjl on all fours, 1hpy eap ajsa will,
upright with toes turned outwayds. When erect Higcy aiand 3-5 1t high 'l Lgir is h”“r Ahf
coarse, black except for a while 118 alch near the Tuif, .].“.i lace, gars, I]:{lu] Al Jeat agy P"\‘“
and except for the black face, the flesh is coloured.

Chimpanzees exhibit preat concerpi for each other, t ey chimpanzoey Firgg ‘1““ h.:wu“ b
apart, they greel each other in {\ very human w,zn llq Iruching Ld;]l B 28 Ryen gy i8] i,
hands. Chimpanzees have amaz iy social discipl] it \u“m a dominmu il ,«mi\i 8, (i 1
of the chimpanzees huiry to pay |;aprart toit. The ,q {jpipant male is nog “;“ o W !e;mf
from his inferiors, The l'l‘lLl‘l‘l‘J{‘I‘ Gf a party also &y it !“i L :HngI( yable Gar “f”'f af ”,.u By "hth
cach other and themselves, l\t[nlht'is go lhmu!,'l h;. f;.l;‘ of their I T ilnl any j Wit
particles, dirt, and ticks and they »,14 each other Wllhlf Ihw arg m;ure 8|

Chimpanzees are the best tnc:l et apart fmm] TS qtlc]-. s 2.3 11 foignb e iekedq « ‘ (1 Hay
ground or broken from brancmn and pushed iny t F..dn, thery wn:l}d ’M 1! ;: o' epe g S
insects licked off. Stones are uaj (o crock nuts i | i i fplsuiles fo {i.ﬂ.‘.sg.r I i“”ﬂﬂ,, il i iiiml )

away from its food. C lnmpanz{na are not only bl ] iirs byt alsa 1 i it 1| _____ [ we i
their own rods by stripping thy; lraves off a l"‘t it jear s ..:“ { “,ihl, ,;Li.m ]i;, 'f'}
chimpanzees learn all this by ol sepving the Oldi'l i ‘ “1 @nzees magin R I| O
humans is not the only lUD]]'l'ldkLl{ i, merely belter 3"\ i Hijl" theiy 1e !‘.m-‘?”‘- L ;

(a) Chimpanzeesareas____ ' | humans,
(b) They greet each otherby
(c) Like a human bmng chin, {hanweq
(d) Llwqpan?ee‘; ik v ils.
(e) Baby chimpanzees !9'1111

(f) Chi Ipanzees have amaz, ; ,5 .....

(8)  The dominant male dum (" n Zee is s not alle, i)
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(h)  The word ‘wrest’ means

Read the passage given below and answer the questions that follow : (2x4)+(1x4)=12

Our opportunities are great but let me warn you that when power outstrips ability, we will
fall on evil days. We should develop competency and ability which would help us utilize the
opportunities which are now open to us, From tomorrow morning - from midnight today -
we cannot throw the blame on the Britishers. We have (o assume the responsibility ourselves
for what we do. A free India will be judged by the way in which it will serve the interesls of
the common man in the matters of food, clothing , shelter and social activities. Unless we root
out corruption in high places and root out every trace of nepotism, love of power, profiteering
and black marketing which have spoiled the good name of this country in recent limes, we
will not be able to raise the standards of efficiency in administration as well as in the
production and distribution of the necessary goods of life.

Pandit Jawaharlal Nehru referred to the greal contribution which this country will make to
the promotion of world peace and the welfare of mankind. The - chakra, the Asokan wheel,
which is there in the flag embodies for us a great idea. Asoka is the greatest of our emperors.
Look at the words of H.G.Wells about him ‘Highnesscs, Magnificences, Bxcellences,
Serenities, Majesties : Among them all, he shines alone a slar, Asoka the greatest of all
monarchs.” He cut into rock his message for the healing of discords. If there arc differences,
the way in which you can solve them is by promoting concord. Concord is the only way by
which we can get rid of differences. There is no other method which is open to us.

We are lucky in having for out leader, one who 1s a world citizen, who 18 egsentially a
humanist, who possesses a buoyant optimism and robust good sense in spite of the perversily
of things and the hostility of human affairs. We see the way in which his Department
interfered actively and in a limely manner in the Indonesian dispute. (Loud applause.) Tt
shows that if India gains freedom, that freedom will be us=d not merely for the well-being of
[ndia but for Vishva Kalyana, world peace, the welfare of mankind.

Extract from a speech by Dr.Radhakrishnan
(@)  When do we fall on evil days ?
(b)  How willa free India be judged ?
(c) What did Pandit Nehru refer to 7
(@)  What will India use ils freedom for ?
(¢)  Whatis meant by the word, “to po.much faster* ? ([ ara 1)

(i) profiteers (i)  nepotism

12
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(i)  outstrip (iv) raise
(f) Which word in the passage means ‘creation” ? (para 1)
(1) production (i)  profiteering
(iif)  distribution (iv)  administration
(©) Find the word from the passage opposite in meaning to, ‘war’. (para 2)
(i) welfare (ii) peace
(iii)  healing (iv)  monarch
(h)  Find the word opposite in meaning to ‘pessimism’. (para 3)
(i) creation ‘ (11) perversily
(iif)  optimism (iv)  service
SECTION B

(WRITING& GRAMMAR: 25 Marks)

The introduction of BPO culture in India has disturbed the sleep patterns of the Indian youth.
You are deeply concerned about these changes. Write an article in about 100-120 words,
expressing your views on the same. Give a suitable title,

Write the story in about 150-200 words which begins as the following:

" A soon as Mama and Papa left and 1 locked the door. After about an hour I heard the glass of nry,

window crash...'

~ Read the paragraph given below. Fill in the blanks by choosing the most appropriate words

/ phrases from the given options.

~Children may quarrel all the time, drawing the elders into the fray. " The neighbour’s son may

Page 3 of 6

pick a flower or a fruit from your garden and an argument (@) ___ erupt. Again, he
may throw his ball (b) your window pane damaging it. These are not unnatural
so far as the younger one is concerned, but it is for the clders to
) them with equanimity. 3 =
AR il A, L. b v

(@) | must ought to  .L#hay | should

(b) to from on flath -

(<) B e Rt R O]

=
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The following paragraph has not been edited. There is one error in each line. Write the incorrect
word and the correction in your answer sheet against the correct blank number. The first one has
been done as an example.

: Error  Correction
This ‘Boxcar Children’ by Gertrude Chandier Warner  e.g. This The

tells the story for four orphaned children, Henry, Jessie, (a) L

Yiolet and Benny, They get permission by stay overnight(b)

at the bakery but run away while they heard the baker’s (c) a0 )

wife say she would keep the older three and send Benny (d)

fo an arphanage,

Rearrange the follgwing words/phrases to make meaningful sentences. 3

(1) invention/ perhaps/man's greatest /wheel/is/the
() long distances/ diflicult/it was/ travel/earlier / to
(&) to travel/ therefore/very adventurous/only /dared / people

SECTIONC
(LITERATURE& LONG READING TEXT: 25 Marks)

ead pne of the extyaely given below and apswer the questions that follaw:

W T wibipe png fugrse m'nrjﬁt up ””ﬂ#é,jt love nnd the grief of separation is inescapable". 3
() When }{1'1:1 ihy 'h[".e;.llh.:[ acyuire fhis philosophy ?

() What pain b e speakey gope thropgh ?

(18 What dlogs the wnnl, ingacgpable’ mean ?

OR

Mo g | fl-.'Jj il Rk it g 3
‘H;T;m nss bifd- i e on fhe sl
s m{m Wi fig, {zat‘qanl Jaag,
\n.L{ ey {upps o ;Lg,;m YT 3,;;«.;1;':1,
:;j] Wiy wae thi fpe p,lt el 1iF 1y }Hl rage ?
{8 Fityn ﬂr drutur“:{,; pf Brai N.,,.;
Wk ha R i when ihe Hl{’hll{liﬁh’ puffed up her lungs ? -

“]”11* ima fu”(nq iy V“‘r”i“'{"'r‘ m h IR 30 - 40 words.

A ,i v g uneh -.llw'[ il iy l-l'i.‘i { ]p would receive a lefter from Miriam one day, Why? i

Vit bk P erpotsizian pf thy bog peach 1o tha frpgle song ? 2



9(iii)

9(iv)
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What are the three things that the grandfather planned to do on Monday ?
Why do you think the nightingale lost her appeal for the masses ?
Answer one of the following questions in about 80-100 words.

The story, 'Two Gentlemen of Verona' describes what a family encounters in the aftermath of
war. Wars are destruction of humanity and it is only peace that can save the world. Describe
with reference to the story.

OR

After the nightingale’s death, the frog commented thus : “.... Far too prone to influence....
your song must be your own’. Keeping in view the above statement, write an article on ‘One’s
beauty is one’s own’.

Answer one of the following questions in about 150-200 words.
How did Anne pass her time in hiding ? Discuss in detail.

OR

How was Anne’s relationship with her mother and father different?

OR

The arrival of Ann Sullivan coincided with the coming of spring. What symbolie significance
does it hold ? ‘

OR

What was the significance of the role played by Helen’s mother in Helen's
life? Give a brief character sketch of Helen's mother.

10

10



SUMMATIVE ASSESSMENT-1 (CLASS-X) 9/2015 ‘
-SUBJECT : MATHEMATICS (SET-A)

Time : 3 Hrs. M.M.: 90
General Instructions :

B
2.

4,

Q1.

Q2.
Q3.

Q4.

All questions are compulsory.

The question paper consists of 31 questions divided into Jfour sections
4, B, C and D. Section-A comprises of 4 questions of 1 mark each;
Section-B comprises of 6 questions of 2 marks each: Section-C comprises
of 10 questions of 3 marks each and Section-D comprises of 11 questions
of 4 marks each.

There is no overall choice.

Use of calculator is not permitted.

SECTION-A

9
Without actually performing the long division, state whether 125 will have a

terminating decimal or a non-terminating repeating decimal expansion.
If APQR ~ AXYZ, £Q = 50° and ZR = 70°, find the value of £Y + 22,
Find f and F.

Marks Number of students (fi) cl.

0-10 - 5 5

10-20 15 F

20-30 f 50

30-40 8 58

40-50 2 60
60

The graph of y = p(x) is given for some polynomial p(x). Find the number of
zeroes of p(x). g

AY
% /_\/"
'};!




SECTION-B

' 1
Q5. In AABC, right-angled at B, if tanA = 73 find the value of

cosA cosC - sinA sinC
Q6. Find the value of p for which the following pair of linear equations has a
unique solution.
O9x+py=1
3x+4y=2
Q7. Sides of a AABC are 4cm, 6cm and 8cm. Determine whether it is a right
triangle or not.
Q8. If o and P are the zeroes of the quadratic polynomial f(x) = 2% + 7x + 5, find

1 1
the value of 20 + 26

: A+B C
Q9. IfA, B and C are interior angles of a triangle, prove that taﬂ(—z—] = cot 5

Q10. Find the mean and mode of the following distribution. Hence, find the median
“using empirical formula :
3,13.4,6,8,4,4,5,7,6
SECTION-C
Q11. Three persons start their morning walk from the same point, af the same time
and in the same direction. Their steps measure 90cm, 80cm and 85cm
respectively. What is the minimum distance each of them will cover before
they meet again?
(312. Show that sec45° = /9 geometrically.
BF BE

Q13. In the given figure, DE || AC and DF || AE. Prove that FE - EC

A

F E
Q14. Find a quadratic polynomial whose zeroes are 1 and -3. Verify the relationship-
" between the coefficients and zeroes of the polynomial.

(E-2)




Q15. Express the ratios sinA, cotA and secA in terms of cosA.

Q16. Ten years ago, Mr. Kaushik was four times as old as his son. After 10 years, he
will be twice the age of his son. Find their present ages.

Q@17. Use Euclid’s division lemma to show that the square of any positive integer is
either of the form 3m or 3m + 1 for some integer m.

Q18. Diagonals of a trapezium ABCD with AB || DC intersect each other at the
point O. If AB = 2CD, find the ratio of areas of AAOB and ACOD.

Q19. Find the mean age of 100 residents of a colony from the following data :

Age (in years) Number of persons

0-10 10
10-20 15
20-30 23
30-40 25
40-50 10
50-60 10
60-70 ' 5

Q20. The median of the following data is 42.5. Find the values of xand y, if the total
frequency is 50.

oL Frequency
10-20 4
20-30 8
30-40 10
40-50 X
50-60 10
60-70 y
70-80 “E R
SECTION-D

Q21. Prove that /7] isirrational. Hence prove that 3 4 4./77 isan irraiional number.
(322. Find all zeroes of p(x) = x* - 75° + 1022 + 14x- 24 if two of its zeroes are J2 and

ah |
Q23. Draw the graphs of the equations
2x+ 3y =10
4x + By = 12
Name the type of lines formed by the above equations. |
Q24. State and prove Pythagoras Theorem.
sinf J_ [ cos0 J _tan*0 +1
cosO+sind,) \cosf-sing/ tan6-1

@25. Prove the following identity : [

(E-3)




Q26. Change the following distribution to a more than type distribution, and draw

its ogive. :
Class Interval Frequency
0-10 8
10-20 12
20-30 22
30-40 21
40-50 30
50-60 7
Q27. Evaluate without using trigonometric tables :
sin”40°+sin*50° g 3 A } s
c0s220°+c0s70° + tan10° tan20° tan60° tan70° tan80

Q28. In the given figure, CM and RN are respectively the medians of AABC and

CM _AM
APQR. If AABC ~ APQR, prove.that (i) AAMC ~ APNR (i) o= Trr

P
R.
&Zk
-HMBPNG.

.Q29.Solve: x+y=4
3x-y=4
by substitution method. Verily your result by elimination method.
: 17
Q30. Show that (sin45° - tan’45%)® + 3 (sin90° + tan®30°) = N

Q31. (i) Ina public contribution towards tsunami relief fund, people contributed
various sums of money. Find the mode of the frequency distribution of

the contributions
Contribution (in ) Number of people
400-450 20
450-500 35
500-550 40
550-800 32
600-650 24
650-700 _ 27

(i) Which value is being depicted here?
(E-4)




SUMMATIVE ASSESSMENT-1 (CLASS-X) 9/2015

SUBJECT : SCIENCE (SET-A)

Time : 3 Hrs. M.M.: 80

General Instructions !

1.

6.

Ql.

The question paper comprises of two Sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
All questions of Section-A and all questions of Section-B are to be

. attempted separately.

Question numbers 1 to 3 in Section-A are one mark questions. These are
to be answered in one word or in one sentence,

Question numbers 4 to 6 in Section-A are two marks questions. These
are to be answered in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These
are to be answered in about 50 words each.

Question numbers 19 to 24 in Section-A are five marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions
based on practical skills. Each question is a one mark question. You
are to select one most appropriate response out of the four provided io
you. :

Question numbers 34 to 36 in Section-B are questions based on practical
skills and are two marks questions.

SECTION-A

A shiny brown coloured element X’ on heating in air becomes black in colour.
Name the element ‘X' and the black coloured compound formed. (1)

Q2. Which effect of electric current is utilised in the working of an electromagnet?

(1)

Q3. Name the process in plants that converts light energy into chemical energy.

(1)

(E-1)




Q4.

Q5.

Q6.

Q7.

Q8.

- G

Q10.

What is the resistance of 12m wire having radius of 2 x 10™*m and resistivity
of 3.14 x 10 Qm? ' @2

Convert the following statement into chemical equation & then balance it -
Iron () oxide reacts with aluminium metal to form aluminium oxide and

iron. @

Give reasons : 2
(@) Birds and mammals have high energy needs.
(b) Walls of trachea do not collapse when there is less air in it.

(@) Identify the substance oxidised and the substance reduced in the following
reaction - MnQ, + 4HCl — MnCl, + CL, + 2H,0

(b) Write two characteristics observed when lead nitrate salt is heated. Write
the chemical reaction involved. ' (3)

(a) Tonic compounds are bad conductors of electricity in solid state but
conduct electricity in molten state. Give reason.

(b) Name a metal which -
() reacts with cold water

(i) does not react with cold water and hot water but reacis with steam.
3)

On the roofs of the houses, hospitals, hotels etc. solar panels for electricity
and solar heaters for hot water are placed. Nowadays many people are
preferring these methods as sources of energy.

Answer the following questions based on above passage :
(a) Why are people preferring these types of methods?
(b) How will it affect our environment? (3)

(a) Give one example each for hydrated salt and corresponding anhydrous
salt.

(b) Tooth enamel is the hardest substance in the human body. Write its
chemical composition.

() What effect does the concentration of H',, ions have on the nature of
the solution? (3)

(E-2)




Q11. Derive the relation R = R, + R, + R,, when resistors are joined in series with
the help of a diagram. 3)

Q12. An electric lamp is marked 100W, 200V. It is used for 5h daily. Calculate -
 (a) its resistance while glowing.
(b) energy consumed in kWh per day. (3)
@13. (a) Name an instrument that measures electric current in a circuit. (3)

(b) What do the following symbols mean in circuit diagram?

(i) w (i) -_...( - )_

Q14. A coil of insulated wire is connected to a galvanometer. What would be seen if
a bar magnet with its south pole towards one face of the coil -

(a) moves quickly towards it?
(b) moves quickly away from it?

(c) Name the phenomena involved. (3)
Q15. Describe the working of ocean thermal energy conversion power plant.  (3)
Q16. State the function of following hormones - (3)
(@) Thyroxine (b) Adrenaline
(© Auxin
317, Complete the following chemical equations and balance them - (3)
(@ NaHCO, _4 | + +
(b) HCl+Zn-o i+
(c) CuO+HCI- +
(218. A student placed a china dish containing 2 of silver chloride in sunlight for
sometime -

(a) Mention two characteristics observed in the above reaction.
(b) State the type of reaction.
(¢) Write chemical reaction involved. (3)

Q19. (a) What is the chemical formula for Plaster of Paris? How s it prepared?
State the common name of the compound formed when Plaster of Paris
is mixed with water.

(E-3)




(b)

Q20. (a)

(b)
Q21. (a)

(b)
(c)

Write the formula of magnesium sulphate. Identify the acid and bas=
from which this salt can be obtained and state its nature. 5)

Draw a neat diagram to show human digestive system and label - (5)
(i) Liver [ii) Stomach

(iii) Oesophagus (iv) Small intestine

How is small intestine designed to maximise the absorption of food?

What is the function of an earth wire? Why is it necessary (o earth metallic
appliances?

What ié the colour of an earth wire?

Distinguish between a direct current and an alternating cuirent. (any 2
points) ()

Q22. For the circuit diagram given below, calculate

(a)
(b)
()
Q23. ()

()

(c)
Q24. (a)

s
100
—WANWW—
=
T A Y

the value of current through each resistor.

the total current in the circuit.
the total effective resistance of the circuit. (5)

Identify the process used for obtaining metal oxide from its carbonate
ore. Name the gas released during this process.

Explain the extraction of mercury (Hg) from cinnabar ore with the help
of chemical reaction.

Explain the formation of KCI molecule by electron dot method. (5)

What causes tendrils to encircle or coil around the object in contact
with it? Explain.

(E-4)




@25.

Q26.

Q27.

(b) Name the part of the brain -
() that helps in performing voluntary actions with precision.

(ii) controls salivation and vomiting.

(c) State the function of olfactory receptors. (5)
SECTION-B '

The current through a resistor connected in an electric circuit and the potential

difference across its ends are shown in the diagrams, (1)

The value of the resistance of the resistor is
fa)oss 2800 ot (b) 20Q
¢) 10Q d) 150

A voltmeter has a least count of 0.05V. While doing ohm's law experiment, a
student observed that the pointer of the voltmeter coincides with 15™ division.

The observed reading is - (1)
(a) 0.75V b) 0.075V |
(€ 7.5V (dy 75V
Two resistors R, and R, are to be connected in parallel combination. Select
the correct combination(s). N (1)
: ey ,z.sl-' % R,
‘_é: R, R; |
R
" @ : (R)
(@ OnlyP (b) OnlyQ
{c) OnlyR ' (d) All the above

(E-5)




Q28.

Q29.

Q30.

Q3.

When a few drops of universal indicator were added to a dilute sblution of

HC, it is observed that the colour of the solution changes from M
(a) colourless to blue () colourlesstored :
(c) blue to colourless (d) colourless to green

A student added dilute HCL to a test tube containing zine granules and made
following observations : (1)

() The zinc surface became dull and black

() A gas evolved which burnt with a pop sound

(II) The solution remained coluurlesé

The correct observations are !

(a IandIl (b) TandIll
(c) IlandI (d) I,1Iand Il

Solutions of ferrous sulphate, zinc sulphate, copper sulphate and aluminium
sulphate were separately taken in four test tubes and some iron nails were
placed in each of the solution. After few minutes, it would be observed that
the colour of (1)

(a) all the four solutions changed.

(b) solutions of zinc sulphate, copper sulphate and aluminium sulphate
changed and that of ferrous sulphate did not change.

(¢) solutions of zinc sulphate and aluminium sulphate only changed.
(d) copper sulphate solution only changed. |

In order to destarch the leaves for an experiment to show that light is necessary
for photosynthesis, the g (1)

(a) leaves are kept in alcohol and boiled in a water bath.
(b) leaves are soaked in fodine for two hours.
(¢) plant with the leaves is kept in dark room for 48 hours.

(d plant with the leaves is exposed to light of a lamp, a night before the
experiment. ' :

(E-6)

.




@32. Which of the following precautions are to be kept for a successful run of the
experiment to show that carbon dioxide is given out during respiration? (1)

() ©  Cork should be air tight.
(i) Seeds in-the flask should be totally dry.

(iii) A small tube with freshly prepared KOH solution should be placed in the
flask.

(iv) The end of the delivery tube should be above water level.
The correct answer is : ‘

(@ ) and (i) ) () and (i)

(© (), (i) and (iii) ' @ (), (), (iv)

Q33. A portion of destarched leaf of a potted plant was covered with a black strip of
paper. The plant was then exposed to sunlight for six hours and then tested
for starch. It was observed that ' (1)

(@ both covgred and uncovered parts of thé leaf turned blue-black.
(b) both covered and uncovered parts of leaf turned yellowish brown.
(c) only the uncovered part of Ipaf turned blue black.
(d) only the covered part of leaf turned blue black
Q34. State ohm’s law. What is the shape of V-I graph for a metallic wire? (2)

"@35. Two beakers A and B contain iron (II) sulphate solution. In the beaker 4, is
placed a small piece of copper and in beaker B, is placed a small piece of zinc.
It is found that a grey deposit forms on the zinc, but not on the copper. Why?
Also arrange the metals in decreasing order of their reactivity. (2)

- O36. Identify the parts marked as X and Y in the given diagram. 2)

(E-7)
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SA-I (CLASS-X) 9/2015
SUBJECT : FRENCH

Time : 3 Hrs. M.M.: 90
General Instructions :

(i)

Read all the questions very carefully.

(i) Mark the question as given in the question paper.

(iii) Attempt all the questions.

Q.

SECTION-A (COMPREHENSION ECRITE)
Lisez le texte et répondez aux questions suivantes :
Seul Sur la Mer

Depuis quatre mois, Bernard Moitessier est seul avec
‘Joskua’, son bateau a voiles; seul sur la mer (pour faire
le tour du monde).

13 heures. Dans sa cabine, Bernard s’arréte de manger.

<<Quels sont ces bruits surla mer? Ce sont surement
des poissons.>>

Bernard sort de sa cabine. Ce sont des dauphins,
beaucoup de dauphins, peut-étre quatre-vingts ou cent.
IIs nagent a c6té du petit bateau rouge et blanc.
Bernard est heureux de se trouver au milieu de ces
joyeux animaux.

<<Tiens, aujourd’hui les dauphins n'ont pas I'air d’avoir
envie de jouer, que se passe-t-il? Un groupe de dauphins
passe a cdté du bateau, de I'arriére a I'avant puis tourne
a droite; ils recommencent plus de dix fois la méme
chose.

<<Je ne comprends pas. C'est extraordinaire, ils ne font
jamais ca. Qu'est-ce qu'ils veulent dire? Le compas! Le
compas! Le bateau ne va plus vers I'Ouest. Le vent vient
du Sud maintenant et je cours droit vers les rochers de
I'fle Stewart cachée par le mauvais temps>>.

(1)



Q1.

Q2.

@3.

()  Le dauphin est un animal trés joyeux.

(iii) Les poissons font ces bruits syr la mer.

(iv) L’ ile Stewart est cachée par le beay temps.

Cochez la bonne réponse :- (4)

()  Bernard etait un :
(@) pilote (b)  medeein
(©)  marin :

(i) Bernard a entendu :
(@A) uner : (b)  une alarme
(c) des bruits

(i) Les dauphins sont *
(a)  heureux (b)  méconients i
(c)  rapides

(iv) Bernard Voyage avec un batean -

(a) mécanique (b)  arames
() avoiles

Trouvez dans le texte :- (1)

Vite, Bernard change ses voiles pour tourner vers le Sud-
Ouest et alors les dauphins deviennent Plus tranquille
lIs semblent maintenant Jouer avec le bateay]

Répondez aux questions Suivantes :- (2)
(i)  Pourquoi Bernard est-il heureux?

(i) Comment S'appelle le bateay de Bernard?

Dites Vrai ou Faux - 2)
() Bernard est surla MET pour faire le tour dy monde,

() Lequivalent g une chambre dans un bateay

T — .
(i)  Unadjectif qui indique quelgquechose qui n'est pas
- norma]

(2)




Q5.

oL

Q2.

Q3.
Q4.

Ql.

Donnez le contraire des mots suivants - (1)
() commencer® _
(if) sortir#

SECTION-B (EXPRESSION ECRITE)

Forivez une lettre d'environ 80 mots a vos parents en
décrivant une visite au musce. (10)

Mettez le dialogue en ordre :- (5)

Mon frére : Je ne sais pas pour I avenir. Peux-tu me
conseiller?

Moi . Qui, mais tu pourras avoir un bon travail.

Mon frére : La science, je voudrais &tre ingénieur
comime papa.

Moi . Que voudrais-tu faire?
Mon frére : Je devrais étudier beaucoup.

Moi ~ : Tudois entrerdansun IUT pour faire des
études de technologie.

Eerivez la recette d’ un plat qitl est facile a préparer. (5)

Yous devez partir pour un travail urgent et vous ne
pouvez pas assister 3 la soirée organisée par votre
camarade de classe. Rédigez un refus. (30-35 mots) (5)

SECTION-C (GRAMMAIRE)
Reliez les phrases avec les pronoms relatifs donnes :-
(5)
(qui, que, dont, ou, avec lesquels)

(i) Clest un roman policier. Nous avons déja lu ce
roman,

(i) Ce sont mes nouveaux amis. Je vais au cinema
avec mes amis.

(ili) Vous avez donn¢ des livres. [ls sont magnifiques.
(iv) Donne-moice stylo. Tune te sers plus de ce stylo.

(3)



02.

Q3.

Q4.

Q5.

(v) Nous visiterons la grotte. Nous avons trouve le

trésor dans la grotte. 1€
Mettez au négatif :- ' (5)
(i) Nous mangeons de la viande.
(i) Tout le monde aime ce film.
(iii) Elle va souvent a la piscine.
(iv) J'ai déja fait mes devoirs.
(v) Ma sceur a tout donné a son amie.
Remplissez les tirets avec les articles :- (5)
Pendant (a)______ __weekend. (b)________ francais
passent beaucoup (c)______ temps dans (d)
salle 4 manger (¢)______ diner est trés ¢labor¢. Ils
commencent avec (f) hors d' ceuvres. Ensuite
(g)________ viande avec (h)____ vin. lls aiment
(i) fromage et ils mangent (j) fromage a
chaque repas.
Mettez aux temps convenable :- (5)
() Dans dix minutes, les gargons (sortir) de
la classe.
(i) Aussitét que je _____ (arriver), je feral mes
devoirs.

(i) Le professeur _(arriver), ily a cinq minutes.
(ivy Nous avons acheté une voiture, quand nous
(gagner) de I'argent.
(v) s (se promener) dans le jardin tous les
soirs.

Complétez les tirets avec les pronoms démonstratifs :-
; (5)

(i  Vous voulez acheter cette chemise-ciou 2

(i) Laviea Paris est plus intéressante que a
Lyomn.

(4)




S

Q6.

Q7.

Q1-

(iii)

(iv)

(v)

Je ne préfére pas ces livres, je prefére

Regardez ces deux enfants, qui est a droite
est trés beau.

Parlez-vous de ce film-ci ou de ?

Retrouvez les phrases :- (3)

)

(ii)

(iii)

(iv)

(v)

oncle/il/vacances/allé/ pendant/est/chez/son/
les.

continues/guitare/tu/a/ jouer/de/la?

faut/connaissance/une/ francais/bonne/il/avoir/
duiiit

a/a/elle/question/cette/répondu.
film/voudrions /voir/ un/ensemble/nous.

Remplacez les noms soulignés avec les pronoms
personnels :- (5)

(i)

(i)
(1)
(i)
)

Elles vont acheter des pommes.
Je mets les stylos dans la boite.

Elles veulent parler au PDG,
Je vais partir avec mes cousins.

Vous allez au Japon.

SECTION-D (CULTURE ET CIVILISATION)
Repondez aux questions suivantes :- (6x2=10)

(i)
(i)

(1)

(iv)
(v)

Quelles sont les responsabilités d’ une secrétaire?

Nommez des objets qu'on trouve dans un bureau.
(quatre)

Qu'est-ce qu'il faut avoir pour obtenir une carte
de lecteur?

(du'est-ce que le tour de France?

Nommez les différentes rubriques d'un journal,
(quatre)

(5)



* Q2. Reliez les mots de la colonne A avec ceux de la

colonne B :-
A
i) ARTE

(i) Une agrafeuse
(i) Zapper
(iv) Le brevet
(v) Secrétaire
(vi) les aiguilles de
Bavella
@3. Dites vrai ou faux:

(a)
(b)
(c)
(d)
(€)
(f)

(3.
B
le collége
Chaine a la télévision
Au bureau
Ranger les dossiers '
belles

Passer d'une chaine
de téle a l'autre
(4)

() Un bon ¢léve doit toujours faire attention au

professeur.

(i) On ne doit pas étre optimiste.

(i) Les études a 'universite ne colitent pas chers.

(iv) Si votre ami est au chomage. vous ne I' aiderez

pas.

Q4. Complétez ces phrases suivantes :- (3)

(i) (L’ fle de France/Bastia/La Corse) est

une petite ile au sud de la France dans la mer
(Arabe/méditerranée/Noire)

@ _ _ (Bordeaux/ Roguefort/Toulouse) est un
endroit o1l on cultive le vin en France.

®
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